#### Tulare County Stonewall Democrats Agenda

#### Monday January 13, 2025

## 6:00 pm No-Host Dinner -:-7:00 pm Hybrid Meeting\* Porterville Me-n-Ed's – 1331 W. Henderson – Porterville CA

VIA ZOOM 7:00 pm Meeting ID: 833 0029 9172 - Passcode: 3JeeJR

1. Call to Order	Neeley
2. Pledge of Allegiance	TBD
3. Self-Introductions	
<u>Candidates Requesting Endorsement</u> (5 min. + questions)	
4. Approval of Minutes	Z Smith
5. Treasurer's Report	A. Smith
6. Old Business:	
a. Membership (Recruitment)b. Fundraising Ideas	Neeley
b. <mark>Fundraising Ideas</mark> b.	Neeley
7. New Business:	
a Goals for 2025	Neeley
b ADEM Info  c. Spring Fest d. May 22 Fundraiser e. TCDCC Holiday Party	Neeley
c. Spring Fest	Neeley
d. May 22 Fu <mark>ndrai</mark> ser	Neeley
e. TCDCC Holiday Party	Coffee
8. Reports	
a. Regional Director's Report	Dr Gomez
b. Sub Committees	
b. Sub Committees Scholarship Membership	C. Smith
Membership	open
Fundraising	open
Ad-Hoc Budget Committee	Coffee
c. Central Committee	TCDCC
a TCDCC Fundraiser Dinner Mar 8 Wynham Visalia	Neeley
9. Good of the Order	All
10. Adjournment	Neeley

Remember the next month's meeting will be, Monday February 10, 2025 6:00 pm No-Host Dinner -:- Hybrid Meeting 7:00 pm – 7:40 pm

\*Zoom limited to 40 minutes

Tulare County Stonewall Democrats is a chartered organization of the Tulare County Democratic Central Committee and affiliated with the CADem LGBT Caucus and the CDC (California Democratic Council).

The purpose of the Tulare County Stonewall Democrats is to work within the Tulare County Democratic Party, providing a strong voice and representation within the party structure; securing full equal rights of LGBT+ citizens through affecting legislation and policies; and encouraging LGBT+ community to participate fully as Democrats at all levels of policymaking and public service.



# Tulare County Stonewall Democrats Unapproved Minutes Zoom Meeting Monday December 9, 2024

- 1. Pledge of Allegiance: Led by Frank Zackery Martinez
- 2. Self Introductions: N/A
- 3. Approval of minutes: MSC Andy Smith/ "Zander" Smith moved to approve minutes
- 4. **Treasurer's Report** by Andy Smith MSC John Coffee/Cynthia Smith to receive and file the Treasurer's report.
- 5. New Business:
  - a. Brock reported that with TCSDC contribution together with Porterville Democratic Club and induvial members the money given to *Toys for Tots* this year amounted to \$700.00 (seven hundred dollars).
  - b. The second round of nominations was conducted with no further names submitted. MSC Andy Smith/Cynthia Smith that the Secretary cast a unanimous ballot for Brock Neeley, Chair; Cynthia Smith, Vice Chair; "Zander" Smith, Secretary; Andy Smith, Treasurer; John Coffee, Member at Large.
  - c. Brock announced the ADEM nomination are now open and the information is posted on the State Party web site.
  - d. Brock reminded everyone the 2025 dues are due and payable as of January 1, 2025.

#### 6. Reports

- a. Regional Directors-N/A
- b. Sub committees

Scholarship-Cynthia reported that the College will be posting the information soon. Membership-n/a

Fundraising- Sill in need of a Chair.

Budget: AD HOC-John will be calling a Budget Committee meeting soon, member are: Brock Neeley, exoffcio; John Coffee, Chair; and Raul Garcia.

#### 7. Good of the Order

Brock reminded people of the Central Committee Holiday potluck on 12/14 1:00PM – 4:00PM at the Visalia Veterans Hall; Raul shared the CAPS Social & Potluck information as well as information about the DPR Forum on 1/8/2025.

8. Meeting adjourned 7:25pm by the Chair

Next meeting set for Monday January 13, 2025

Respectfully Submitted, John Coffee, Acting Secretary



# Treasurer's Report January 2025 November 29, 2024 -:- December 31, 2024

Beginning Balance November 29 2024				\$1,737.46
Cash/Check Deposits				\$140.00
Dues Deposit 12/10/2024			\$140.00	
•				
Square Deposits	Collected	Fees	Deposited	\$0.00
square Deposits	Collected	rees	Deposited	\$0.00
		\$0.00		
		\$0.00		
		\$0.00		
Totals	\$0.00	\$0.00	\$0.00	
Expenses:				\$175.00
12/06/2024 Ck # 1054 Toys for Tots			\$175.00	·
	-			
General Fund Balance			\$889.55	
Scholarship Fund Balance			\$812.91	
Ending Balance				\$1,702.46

	# Tickets	Sell 4	Sub Total	Minus Cost	Fees	Total
2018 Cool Hand Luke's Tickets	45	\$20.00	\$900.00	\$554.65	\$8.80	\$350.00
2019 Cool Hand Luke's Tickets	43	\$20.00	\$860.00	\$499.66	\$8.25	\$352.09
				2020	\$246.81	
				2023	L Book Order	\$261.63
Scholarship Donation				hip Donation	\$100.00	
				Half 20	22 Fundraisr	\$169.26
	Scholarship Donation			\$500.00		
			5/15/20	24 Reid Lower	\$150.00	
				Scholarship Total		\$812.91
2019 Cool Hand Luke's Tickets (FALL)	37	\$20.00	\$740.00	\$440.18	\$4.95	\$294.87
2020 Cool Hand Luke's Tickets	23	\$20.00	\$460.00	\$273.62	\$0.62	\$185.76
2022 Cool Hand Luke's Tickets	32	\$25.00	\$800.00	\$449.92	\$11.55	\$338.53
2023 Cool Hand Luke's Tickets - May	50	\$25.00	\$1,250.00	\$703.00	\$8.43	\$538.57
2023 Cool Hand Luke's Tickets - October	19	\$25.00	\$475.00	\$267.14	\$5.63	\$202.23
2024 Cool Hand Luke's Tickets - October	19	\$27.00	\$513.00	\$267.14	\$7.57	\$238.29

Total Profit Respectfully Submitted 4,740.95

#### Fw: Spring Festival Registrations Now Open!

From: Brock Neeley (brock93274@yahoo.com)

To: tcstonewalldems@gmail.com

Date: Monday, December 30, 2024 at 05:02 PM PST

#### Sent from Yahoo Mail for iPhone

#### Begin forwarded message:

On Monday, December 30, 2024, 16:00, Porterville Chamber of Commerce <events1@portervillechamber.ccsend.com> wrote:



# Save the Date: Spring Festival 2025

**December 30, 2024** 

#### Join in on the fun!

The Spring Festival is our biggest vendor event of the year, drawing in vendors from all

**FOOD** 

**VENDORS** 

throughout the Central Valley! In addition to vendors, there is various organizations and businesses that come out with info booths to connect with community members. There's functions for all to enjoy, such as our Kids Zone, free live entertainment, and more! Everyone can enjoy something they like at the Spring Festival, so come out and join in on the fun!

**Event date:** April 5, 2024 **Time:** 10 a.m. - 3 p.m.

**Location:** Main St. Porterville, CA 93257 **No entry fees for the general public!** 



## Booth Opportunities

**CRAFT** 

RVILLE COLLEC

**VENDORS** 

\$100+

#### **Sponsorship Opportunities**

Our event promotion spans from the beginning of the year, up until the week after the event! Take advantage of this opportunity and join as a sponsor to have your business or organization included in our event's advertising. Benefits differ based on sponsorship level and you can find out more with the link below.

Please note: booth space is included with all sponsorship options.

**VIEW ALL DETAILS** 

If you're looking to connect with community members, display and sell your products, or expand your brand awareness, consider having a booth at our Spring Festival! Craft, retail, pre-packaged food, and info booths are welcome to register for a booth! Visit our website to learn more about registration details.

**INFO BOOTHS** 

\$100

ber members get a \$50 discount from all registration categories!

Please note: On-site cooked food vendor opportunities are limited and priority is given to current Chamber members.

**VIEW ALL DETAILS** 



### Help us make decisions

Your input is valuable and helps our Spring Festival Committee make better choices. We invite you to join our decision making process and answer this 2 minute survey. We thank you for your time and hope to make this a great event!

## Share the news with your community members!

Forward this newsletter to someone you know that may be interested in this opportunity! If you want a sneak peek and the experience, take a look at last year's Spring Festival digital magazine and check out our vendor line-up, functions, and sponsors!

Contact us:

Phone: (559) 784-7502

**Special Events Coordinator:** events1@portervillechamber.com

Keep in Touch!





## Thank you to our Circle of Excellence Partners



PLATINUM LEVEL PARTNERS:











**GOLD LEVEL PARTNERS:** 







MEDICAL CENTER

#### SILVER LEVEL PARTNERS:











Porterville Chamber of Commerce | 93 N. Main St. | Porterville, CA 93257 US

<u>Unsubscribe</u> | <u>Update Profile</u> | <u>Constant Contact Data Notice</u>



Try email marketing for free today!